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FiE >

Fe)y—: MATLAB S - 4Wilir e -

x=[ 37 213 0.5 1.72 1112 47 3 2.5 3.5 0.6 2.41 1835 48 3 2.5 3.25 1.2
2.475 2034 442 2.5 3.25 1 2.26 1477 46 3 2.5 3 1.2 2.27 1648 53 2 2.5
3.5 1.2 2.498 195 254 3 3.5 3.5 2 2.5 22 49 59 3 3.5 3.5 0.7 2.634 18
93 59 3 3.5 3.25 0.2 2.642 22 45 48 3 2.5 3.25 0.3 2.46 20 35 50 3 4.5
3.5 0.3 2.52 2318 56 3 3.5 3.25 0.9 2.617 2203 57 2 2.5 3.5 0.8 2.625
2034 58 2 2.5 3 0.6 2.641 2178 68 4 3.5 3.25 0.9 3.05 2468 59 3 4.5

1;

for 1=1:100
if x(i,2)==1
al=1;
end
if x(i,2)==2
al=1.87;
end
if x(i1,2)==3
al=2.6;
end
if x(i1,2)==4
al=3.2;
end
if x(i1,4)<3
a2=0.52;
else if x(i1,4)<3.25
a2=0.56;
else if x(1,4)<3.5
32=0.84;
else if x(1,4)<3.758&8&x(1,3)<1.5
az2=1;
if x(1,4)<3.7588&x(1,4)>3.588&x(1,3)<2.58&8&x(1,3)>1.5
a2=1.16;
if x(1,4)<3.7588&x(1,4)>3.588&x(1,3)<3.58&8&x(1,3)>2.5
az2=1.32 ;
if x(1,4)<3.7588&x(1,4)>3.588&x(1,3)>=4.5
az2=1.45 ;
end
end
end
end
end
end
end

if x(:,1)<=80
if x(i1,7)<1400
a3=2;
else if x(1,7)<2800

11



a3=3.5;
if x(i,7)>=2800
a3=3;
end
end
end
end
if x(i1,1)<=60
if x(i,7)<1200
a3=3;
else if x(i1,7)<2400
a3=5;
if x(1,7)>=2400
a3=4;
end
end
end
end
a3=8;
if x(1,7)>=2000
a3=7;
end
end
end
end
A(1)=(1000*x(1,1)*a1*a2*a3*0.95)./(5+x(1,1).*x(1,6)+x(1,1).*x(1,5));
end

f)F 2 MATLAB Kk # %
m=2;% AXHEEHAEZERE BOHNK, " HEGETHRAAZHWEEANEZESE B4,
—HMEEETRRUNRREEN .
f=1;% A®¥WEEARXX B HANK
a=0;
KS=0;
b=0;
KC=0;
11=[2875,2875];
12=[1589,1589];
13=[7642,7642];
14=[6356,6356];
BS=[4909,4909];
BC=[19636,19636];
for i=1:m
a=a+I2(1)/BS(1);
end
for j=1:m
KS=KS+((I2(3)/BS(3))/a)*((I1(3)-I12(j))/BS(]))
end
for i=1:f
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b=b+I4(1)/BC(1);
end
for j=1:f
KC=KC+((I4(3)/BC(3))/b)*((I3(J)-14(j))/BC(]))
end
n=0.29207;
K=KS*(n/(1+n))+KC*(1+(1+n))

Feby s o SRR X AE (A 55 i S

||==============s===========ssssssssssssssssssssssssssssssssssssssssssssssssas
// Name : Sudoku.cpp

// Author cowzlf11

// Version : a.o

// Copyright : Your copyright notice

// Description : Sudoku in C++.
||==============s===========ssssssssssssssssssssssssssssssssssssssssssssssssas

#include "graphics.h"
#define LEFT 0
#define TOP 0

#define RIGHT 639
#define BOTTOM 479
#define LINES 400
#define MAXCOLOR 15

main()

{
int driver ,mode,error;
int x1,y1;
int x2,y2;

int dx1,dyl,dx2,dy2,i=1;

int count=0;

int color=0;

driver=VGA;

mode=VGAHI ;

initgraph(&driver ,&mode,"");

X1=x2=y1=y2=10;

dx1=dy1=2;

dx2=dy2=3;

while(!kbhit())

{
line(x1,y1,x2,y2);
x1+=dx1;yl+=dy1l;
x2+=dx2;y2+dy2;

1f(x1<=LEFT||x1>=RIGHT)

dx1=-dx1;
if(y1<=TOP||y1>=BOTTOM)
dyl=-dy1l;

13



if(x2<=LEFT||x2>=RIGHT)
dx2=-dx2;

if(y2<=TOP||y2>=BOTTOM)
dy2=-dy2;

if (++count>LINES)

setcolor(color);
color=(color >=MAXCOLOR)?0:++color;

}
closegraph();

main()

{
int 1,j,k,x0,y0,x,y,driver ,mode;
float a;
driver=CGA;mode=CGACO;
initgraph(&driver ,&mode,"");
setcolor(3);
setbkcolor (GREEN);
x0=150;y0=100;
circle(x0,y0,10);
circle(x0,y0,20);
circle(x0,y0,50);

for(1=0;1<16;1++)

{
a=(2*PAI/16)*1;
x=ceil(x0+48*cos(a));
y=ceil(y0+48*sin(a)*B);
setcolor(2); 1line(x0,y0,x,y);
}

setcolor(3);circle(x0,y0,60);
/* Make 0 time normal size letters */
settextstyle(DEFAULT_FONT ,HORIZ_DIR,0);
outtextxy(10,170,"press a key");
getch();
setfillstyle(HATCH_FILL,YELLOW);
floodfill(202,100,WHITE);
getch();
for(k=0;k<=500;k++)
{
setcolor(3);
for(i1=0;1<=16;1++)
{
a=(2*PAI/16)*1+(2*PAI/180)*k;
x=ceil(x0+48*cos(a));
y=ceil(y0+48+sin(a)*B);
setcolor(2); line(x0,y0,x,y);
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}
for(j=1;3j<=50;j++)

{
a=(2*PAI/16)*1+(2*PAI/180)*k-1;
x=ceil(x0+48*cos(a));
y=cell(y0+48*sin(a)*B);
line(x0,y0,x,y);

}

}

restorecrtmode();
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B Aews
PR B -

R A-1: R 15

BRSSPl OEg MedsE GRETE RIPURIRIE AR AR Add
1 37 2 1 3 0.5 1.72 1112
2 47 3 2.5 3.5 0.6 241 1835
3 48 3 2.5 3.25 1.2 2.475 2034
4 44 2 2.5 3.25 1 2.26 1477
5 46 3 2.5 3 1.2 2.27 1648
6 53 2 2.5 3.5 1.2 2.498 1952
7 54 3 35 35 2 2.5 2249
8 59 3 3.5 3.5 0.7 2.634 1893
9 59 3 35 3.25 0.2 2.642 2245
10 48 3 2.5 3.25 0.3 2.46 2035
11 50 3 4.5 35 0.3 2.52 2318
12 56 3 3.5 3.25 0.9 2.617 2203
13 57 2 2.5 35 0.8 2.625 2034
14 58 2 2.5 3 0.6 2.641 2178
15 68 4 35 3.25 0.9 3.05 2468
16 59 3 4.5 3.75 0.6 2.975 2406
17 75 4 4.5 3.75 0.7 3.15 2648
18 22 1 1 3 1.1 1.45 800
19 27 4 0.5 3 0.6 1.5 903
20 75 1 2.5 35 0.6 1.46 1010
21 76 1 3.5 3.5 0.2 1.63 1069
22 46 2 1.5 3.25 1.9 23 1682
23 46 2 2.5 3.25 1 2.32 1734
24 46 2 2.5 3.75 0.2 24 1826
25 47 3 2.5 3.25 1.2 2.37 1625
26 77 3 4.5 35 0.2 2475 2148
27 48 3 4.5 3.25 0.3 2.47 2278
28 80 3 2.5 35 0.5 2.58 2177
29 66 2 3.5 3.5 1 2.72 2249
30 67 4 35 3.75 0.9 2.975 2484
31 25 3 1.5 35 0.6 1.3 846
32 34 2 4.5 35 0.8 1.52 1152
33 47 3 2.5 3.25 0.3 242 1753
34 48 4 2.5 3.75 0.3 2.34 1924
40 19 2 2.5 3.25 1 1.35 810
41 37 2 2.5 3 1.2 1.49 1102
42 45 2 2.5 3.5 0.8 2.28 1525
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F A-2: NXIFHCHT VISSIM IEHAT B0 BRI %% 1

FEAGS Pl Eg MdsE BRETE RIPUSRIEL EE AR iR

47 67 1 0.5 3.75 0.2 2.83 2249
48 67 4 3.5 3.25 0.6 2.815 2463
49 75 2 35 35 0.6 3.21 2748
50 34 2 1.5 3 1 1.48 957
51 39 2 2.5 35 0.8 1.97 1364
52 40 3 2.5 3.25 0.5 2 1359
53 50 3 2.5 35 1 2.51 2264
54 55 2 3.5 3.25 1.2 2.6 1978
55 55 3 35 35 0.6 2.61 2218
56 59 3 0.5 3 0.2 2.638 1974
57 63 4 2.5 35 1.1 2.78 2384
58 67 3 2.5 3.75 0.8 2.83 2384
59 75 3 4.5 35 0.3 32 2801
60 77 2 4.5 3.5 0.2 3.18 2845
61 23 1 0 3 0.5 1.44 458
62 75 2 1 3 0.2 1.625 1065
69 79 4 2.5 3.75 0.4 3.17 2694
70 38 2 35 3 1.1 1.86 1343
71 61 3 1.5 3.25 0.3 2.68 2006
72 79 3 35 35 2.1 3.48 2948
73 27 2 1 3.75 0.8 1.48 928
74 28 1 1 3 0.9 1.47 947
75 34 2 1 3 0.3 1.49 998
76 44 3 2.5 3.25 0.3 224 1520
71 78 3 4.5 3.5 0.7 3.09 2648
78 73 3 35 35 1.2 3.19 2741
80 37 4 1 3 1.7 1.87 1265
81 37 2 35 35 1.5 1.84 1325
82 38 2 2.5 3 1.2 1.95 1233
83 38 2 1 3 2.1 1.97 1249
84 40 2 1.5 3 0.4 2.12 1366
85 42 3 4.5 3.75 0.4 2.16 1638
86 40 3 1.5 3.25 0.8 243 1384
87 41 3 1.5 3.5 1.1 2.05 1434
88 78 3 4.5 3.75 1.4 3.42 3048
89 41 4 1.5 3.75 0.8 2.15 1566
94 37 2 1 3 2.1 1.89 1289
95 40 4 2.5 3.5 0.9 2.15 1406
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R A-3: /NXIFHLHT VISSIM IE#AT R BRRIC %% 3

B P.C. whE (HEA)  WE (BIF)  FgGS #E (ms)  BHIKE (m)

1 9.34 -1 4 14.7 4.76
1 -1 9.67 4 14.7 4.76
7 19.34 -1 3 14.7 4.76
7 -1 19.66 3 14.8 4.76
6 20.35 -1 4 14 4.76
6 -1 20.69 4 14 4.76
1 21.49 -1 11 14.8 4.61
2 21.43 -1 5 15.9 4.55
1 -1 21.8 11 14.9 4.61
2 -1 21.72 5 15.9 4.55
5 22.36 -1 6 15.4 4.61
5 -1 22.66 6 15.4 4.61
2 25.81 -1 7 13.8 4.11
2 -1 26.11 7 13.8 4.11
2 27.19 -1 8 14.1 10.21
2 -1 27.92 8 14.2 10.21
7 29.24 -1 10 15.1 4.76
7 -1 29.55 10 15.1 4.76
6 32.23 -1 11 14.5 4.61
6 -1 32.55 11 14.6 4.61
5 35.38 -1 12 14.8 4.55
5 -1 35.68 12 14.9 4.55
7 36.42 -1 13 14.5 4.55
7 -1 36.73 13 14.5 4.55
1 38.87 -1 16 15.4 4.61
1 -1 39.16 16 15.4 4.61
6 49.09 -1 16 15.1 4.61
6 -1 49.4 16 15.1 4.61
1 4991 -1 24 15.1 4.55
1 -1 50.21 24 15.2 4.55
5 50.59 -1 17 15.3 4.55
5 -1 50.89 17 15.3 4.55
3 56.27 -1 14 15.8 4.76
3 -1 56.57 14 15.9 4.76
7 57.12 -1 23 15.9 4.76
7 -1 57.42 23 15.8 4.76
6 116.66 -1 46 15 4.4
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